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1966

1999




2000.12.31 2001.12.31 2002.12.31
75,068.61 63,613.39 79,351.35
55,609.87 52,088.18 61,782.67
19,458.74 11,525.21 17,568.68
-4,450.44 -5,087.93 -4,923.85

1 1 12 31




40

3%

2.425%

8-14 3% 12.13-6.92%
12 3% 8.08%
12 3% 8.08%
9 10
10
11 17% 5% 1%
3% 33%
2003 6 30
2003 6 30
33,403,549.00 18,495,512.60

2003 6 30
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2003 7 23

20038 6 30

x 60%

2003

15%
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%

A B C D=C-B E=  C-B  /Bx100%

1 1,849.55 1,849.55 2,211.77 362.22 19.58

2 1,082.39 1,082.39 1,284.92 202.53 18.71

3 767.16 767.16 926.85 159.69 20.82

4 1,849.55 1,849.55 2,211.77 362.22 19.58

2003 6 30
1,849.55 1849.55 2,211.77
362.22 19.58%

1
2
3
4
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2004
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29

2003
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2003
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8

30

2003

30
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